Holy Family Catholic School — Faculty of History

Autumn Half-Term 1

Year 10

Learning Vocab Concept | Retrieval | Success Criteria Red Zone
Intention
GCSE 1920s and | can correctly recall content
W1 L1 America 1930s from Year 9’s America topic
America Recap / and apply it to knowledge
Recap Test questions
W1L2 GCSE 1940s and | can correctly recall content
America Recap — As America 1950s from Year 9’s America topic
needed and apply it to knowledge
questions
W1L3 GCSE 1960s and | can correctly recall content
America Recap — As America 1970s from Year 9’s America topic
needed and apply it to knowledge
questions
w2 L4 Armistice GCSE Conflict 1920s | can describe what the Explain the problems at the Paris Peace
To understand the Ceasefire America Armistice was Conference.

Armistice (Short
Lesson)

| can explain why it was
signed

| can assess its significance
for peace talks
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W2 L5 Wilson GCSE Conflict 1920s | can describe America’s
To explain the Fourteen Points America experience in WW1

impact of the war, Self- Boom | can explain Wilson’s aims Describe America’s experience of WW1
leadership and aims | determination for peace Explain Wilson’s aims at the PPC
of America Isolationism | can describe how
America’s position
influenced the Treaty
W3 L6 Clemenceau GCSE Conflict | Ford Model T | | can describe France’s Describe France’s experience of WW1
To explain the Revenge experience in WW1 Describe the aims of Clemenceau at the PPC
impact of the war, Reparations | can explain Clemenceau’s
leadership and aims aims for peace
of France | can assess why France
wanted harsh terms for
Germany
W3 L7 Lloyd George GCSE Conflict 1920s | can describe Britain’s Describe Britain’s experience of WW1
To explain the Naval power America position after the war Describe the aims of DLG at the PPC
impact of the war, Negatives | can explain Lloyd George’s
leadership and aims aims
of Great Britain | can assess how Britain
balanced revenge with
pragmatism
W3 L8 Big Three GCSE Conflict | Wall Street | | can describe the main
To understand the Peacemakers GCSE Conflict Crash problems facing the Big Evaluate each of the Big Three. Talk about;
problems faced by Compromise Three Their aims
Tensions | can explain why The disagreements and compromises made




Holy Family Catholic School — Faculty of History Autumn Half-Term 1 Year 10
Learning Vocab Concept | Retrieval | Success Criteria Red Zone
Intention
the Big Three at the compromise was necessary How satisfied they would be overall?
Treaty of Versailles | can evaluate which
problem was hardest to
solve
W4 L9 Reparations GCSE Conflict TOV | can identify the main Write an account of how satisfied each of the Big
To understand the War Guilt Germany terms of the Treaty three were with the
terms of the Treaty Military Source | can explain which terms Treaty of Versailles (8 marks)
of Versailles and restrictions suited each leader
make a judgment Colonies | can judge which leader
about which terms was most satisfied
would please each
leader
W4 L10 Diktat GCSE Conflict 1930s | can describe German Explain why Germany were unhappy with the TOV
To understand the War guilt America reactions to the Treaty (8 marks)

German reactions to
the TOV

| can explain why Germans
opposed the Treaty

| can evaluate how justified
their anger was
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W5 L11 St Germain GCSE Conflict New Deal | can identify the other Write an account of why other countries were
To describe the Trianon treaties signed after WW1 unhappy with their treaty
other peace treaties Neuilly | can explain their terms
of WW1 Sevres | can assess their impact on
Europe
W5 L12 Covenant GCSE Conflict 1960/70s | can explain why the Explain the strengths and weaknesses of the LON (8
To describe the Collective Feminism League was founded marks)
foundations of the security | can describe its aims and
League of Nations Disarmament covenant
and explain their | can assess how ambitious
aims and covenant its goals were
W5 L13 Permanent GCSE Conflict | Positives/Neg | | can identify the members Explain the problems with membership of the
To understand the Council atives LON | of the League League of Nations (8 marks)
aims and Assembly | can explain their aims
membership of the | can assess how
League of Nations membership affected the
League’s success
W6 L14 Committee GCSE Conflict | LON Source | I can describe the main Explain the success of the League so far with
To understand the Mandates agencies of the League reference to their aims and Covenant.

agencies of the
League of Nations

| can explain what they did
| can evaluate how
successful they were
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W6 L15 Vilna GCSE Conflict | Civil Rights | | can describe key border Source A is negative about the formation of the
To understand the Aaland Islands disputes handled by the League of Nations. How do you know this?
border disputes that Corfu League in the 1920s
the LoN dealt with Upper Silesia | can explain what actions
and make a Mussolini the League took
judgement on LoN | can assess how effective
actions the League was
W7 L16 Locarno GCSE Conflict | LON 1920s | | can describe agreements Source B is negative about the Locarno Pact.
To describe and Kellogg-Briand Success and | made outside the League How do you know this?
explain agreements Failures | can explain why they were
made outside of the signed
League during the | can assess how they
1920s and to assess weakened the League
the weaknesses of
the League
W7 L17 Manchuria GCSE Conflict 1920s | can describe the Source A suggests the League of Nations failed in
To understand the Invasion America Manchurian crisis Manchuria. How do you know? (4 marks)
cause, events and Sanctions | can explain the League’s

impacts of the
Manchurian crisis
(Extended lesson)

response
| can assess the
consequences for the
League
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W7 L18 Mussolini GCSE Conflict | Civil Rights — | | can describe the Source A suggests the League of Nations failed in
To understand the Abyssinia WW2 vs Abyssinian crisis Abyssinia. How do you know? (4 marks)

cause, events and Hoare-Laval Pact 1960s | can explain the League’s
impacts of the response
Abyssinian crisis | can evaluate its impact on
(Extended lesson) the League’s reputation
W8 L19 Appeasement | GCSE Conflict | LON Big Four | | can identify key failures of ‘The Manchurian crisis was the reason for the
To understand the Source / CEC | the League failure of the League of nations.” How far do you
failures of the LON in of Man. And | | can explain why these agree?
the 1930s Aby occurred (16 marks)
| can evaluate how far the
League failed overall
W8 L20 Lebensraum GCSE Conflict | TOV Terms | | can describe Hitler’s ‘The main reason Britain and France failed to act
To understand Rearmament foreign policy aims against Hitler was because they wanted to avoid
Hitler’s aims in Anschluss | can explain the reactions another war.
foreign policy and Appeasement of Britain and France How far do you agree?
the allied reactions MAD GG | can assess how far

to these aims

appeasement encouraged
Hitler




